Vorticity

{1)
gL S T el T e e 2T t=5.005 1
5 =
4 F -
3L _
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
i 3 -5
g ...t 1) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL A A NN e e =T £=5.01 1
5 F =
4 F -
3L -
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
i 3 -5
g ...t 1) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL D R s ol 4, W e ST £=5.015 1
5 F =
4 F -
3L -
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
i i -5
g ...t 1) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e T el 5, " W e ] t=0.02 1
5 =
4 F -
3L =
i 78
50
2 4 B 25
0
§ -25
'r 1 B -s0
i ] -5
g ...t 1) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL R T el = e ] t=0.025 1
5 F 3
4 F -
3L =
i 78
50
2 4 B 25
0
F -25
'r 7 B -s0
i ] -5
g ...t —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e N el = W e ] t=5.03 1
5 F g
4 F -
3L =
i 78
50
2 4 B 25
0
F -25
'r 1 B -s0
i ] -5
g+ ..t —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL D e . ol = | W e LS £=5.035 1
5 F =
4 F 2
3L =
§ 78
50
2 4 B 25
0
i -25
'r 1 B -s0
i ] -5
g ...t —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e N i 5, W e =TS t=0.04 1
5 F 3
4 F =
3L =
§ 78
50
2 4 B 25
0
i -25
'r 1 B -s0
i ] -5
g+t ...ty —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e e el = e LS t=5.045 1
5 F =
4 F -
3L =
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
i ] -5
g ...t —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e e T ale =, W e ] £=5.00 1
5 F 3
4 F -
3L =
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
i ] -5
g+t ..t —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e e e = e ey SO ] t=5.055 1
5 F 3
4 F -~
3L =]
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
i . -5
gt ...t 1) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e e =l = 7 o |y =] +=5.006 1
5 F 3
4 F =
3L =]
i 78
50
2 4 B 25
0
i -25
'r 7 B -s0
i 1 -5
S it TS BTt o ¥ St G s = —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e ] =i = o Tt (=2 ] +=5.065 1
5 F g
4 F =
3L =]
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
i - -5
g e e e e T ] —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e ] i = @ T =] +=5.07 1
5 F 3
4 F =
3L =]
i 78
50
2 4 B 25
0
- -25
'r 1 B -s0
i . -5
S il il IR MSFirt_ arain rvraires —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e e Sl o © W Do B ] t=5.075 1
5 F 2
4 F =
3L =]
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
i . -5
S i it IR Ml i Wi —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e e ol o, o T & =] +=5.08 1
5 F E
4 F =
3L ]
i 78
50
2 4 B 25
0
; -25
'r 1 B -s0
i - -5
S il PR Ml ¥ v i —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e e Sl T T T e &N +=5.085 1
5 F 3
4 F =
3L .
i 78
50
2 4 B 25
0
i -25
'r 7 B -s0
§ - -5
S el IR M i ¥ * R i —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e e =l T T = tN] t=5.09 1
5 F 3
4 F =
3L -
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
E - -5
S e il P M o e i —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e e o= > T Tt = tEN] £=5.085 1
5 F 3
4 F =
3L .
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
F - -5
gt ... b 1) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 Pl — e T Tt b =] £=5.1 1
5 F 3
4 F =
3L -
: 78
50
2 4 B 25
0
i -25
'r 1 B -s0
P - -5
S il WP Mol W o O i —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL el - SR T Tl e SRR t=5.15 1
5 3
4 F =
3L v
- 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- ] -5
gt .. b 1) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 el e L e e e =52 1
5 g
4 F ~
3L ~
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- - -5
gt .. b 1) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL g e Mo BT Nl el it el =525 1
5 2
4 F -
3L L]
; 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- - -5
2 [ SR I [P I I S —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 e L aE o kLl T Tl =53 1
5 >
4 F F
3L -
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- ; -5
gt ...ty —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL = s e LSL T et o de ] e IS £=5.55 1
5 >
4 F 1
3L .
i 78
50
2 4 B 25
0
L -25
'r 7 B -s0
- 1 -5
g ...t b —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 ST LR SOl L T ST S e £=5.4 1
5 =
4 F -
3L .
g 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- - -5
gb—. ... b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e L e ™ . e R
5 %
4 F —
3L -
[ 78
50
2 4 B 25
0
I -25
'r 1 B -s0
- - -5
g ..yt b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 E ST T L e Lo T ] £=5.5 1
5 &
4 F -
3L o
B 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- - -5
gt ...t b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL =L T S ey e S e’ ] t=0.00 1
5 4
4 F -
3L i
I 78
50
2 4 B 25
0
i -25
T 71 B -s0
- - -5
g ..t —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 T T = Tl e e TR e =55 1
5 3
4 F =
3L =
I 78
50
2 4 B 25
0
g -25
'r 71 B -s0
- - -5
( Lt o, ol = el T el ] —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e R e s SR e T o R w R
5 =
4 F A
3L A
I 78
50
2 4 B 25
0
F -25
'r 1 B -s0
- - -5
( L S ol b T b B, ] ] —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 T T e I L DT e e ] =57 1
5 =
4 F -]
3L -
[ 78
50
2 4 B 25
0
¢ -25
'r 7 B -s0
- - -5
gb—v. ..t by —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL b R e el el oL e Sl ] t=0.75 1
5 _
4 F -]
3L £ |
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- ] -5
gb—. ..t b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 £ ST L el L S e e T =58 1
5 i
4 F ]
3L A
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- : -5
g ...l —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL ST L e el e L e e | e F ] 1=5.85 1
5 =
4 F N
3L 4
i 78
50
2 4 B 25
0
B -25
'r 7 B -s0
- - -5
g ...y —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 Sl e e T T T T T T g =59 1
5 3
4 F -
3L . ]
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- - -5
gt ...t b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
gL e . e s I = | =Tl t=5.95 1
5 £
4 F 7
3L =
| 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- - -5
g .. by ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 | | | | | ] t=6 1
5 3
4 F =
3L =
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- : -5
gt ...t b —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 e B e o e e T £=6.5 1
5 F é
4 F ¥
3L ]
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- - -5
g ...t by —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 | | | | | ] t=7 1
5 E
4 F -
3L =]
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
i : -5
g ...t b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 TR T T T T SR ] =75
5 ]
4 F =
3L i
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- ] -5
g+t .. b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 | | | | | ] t=8 1
5 =
4 F =
3L =
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- ) -5
g+ ..t b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 T RS T e e T =85 1
5 J
4 F =
3L o
i 78
50
2 4 B 25
0
r -25
'r 1 B -s0
- | -5
gb—-+. ... b —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 | | | | | ] t=% 1
5 =
4 F 3
3L =
i 78
50
2 4 B 25
0
i -25
'r 7 B -s0
- . -5
gt ..l —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 T T T 1t=9.5 1
5 F
4 F J
3L =
I 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- | -5
2 ] S I VI I R S i —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



Vorticity

{1)
6 T T T T =10
5 =
4 F A
3L e
i 78
50
2 4 B 25
0
i -25
'r 7 B -s0
r . -5
gb— . ...t b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Whi =171, WhNe=242, Mp=100, H¥rder=1, Eng=0.5, tp=23.0



